EARAROBREBRT —5 XN—ZXBISH—F 202318278 (&) 1705EH5H

I8 C 8#H YSFR—#% ‘(fﬁl = ‘[%EH%FEEH - | 5 1w B
[AXE%] 1 &:300,00 M  2&:90,00H  3#&:4500H  437%:30,000H 53 :15,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
< HEEZ : -5-4- - KEFEKR (i)
1 : D% 7R S IR R P |EmEE
RYLSAN—F BRy IRy EH%E
S = : -3-3- - RIS (1)
A A o | B Pl CO IR R A=
RiEVFOVY B:yvROTI7U— pac e
—- B 6 | ABUES 1:33.1 8-8-7-6 | 40.6| — 4 | 412 | FRLUZHE (SEHL)
3 7 YIZUR—TF)L 54.0 3 ) ﬁ#y\i;
R:VEIWDF— B:PIZVRATSDL BEE KX
~ < t 4 | RINE 1:33.5 6-6-6-5 | 41.3| -— 2 439 | SRHEE (FEW)
sl 6| AVITHY £ 54.0 ) +12) nmE-
R:5= B:FLSHIFVaY J\BZ7—L4
— % 7 | ALE— 1:33.7 7-7-8-7 | 41.3| - 6 377 | KEBEKX (W)
5(5/5|70 54.0 a1 © |BAE
RIRU—LVp—=— B:F—THYI vk ASARI Y b
e . SiERE : - HIBIES (B
6lglg| EVFVRIT 6 5-—141?(%) 1.33.5 4-4-5-8 | 42.5 7 :13(3 %Ei%( 1)
RIIART—=ILYF— BEUFVIs—FR HH F5
- : 5 t 8 | MEEREH 1:35.5 1-1-1-3 [ 43.5] — 5 480 | DOEESEEAR (SEHY)
71111 7AT77=TL— * 56.0 ® oy | @) SELTASUR
R:O0-bLFLs0 B:IT7Y7 TR EX
= L 5 | EAE 1:35.9 2-2-2-4 | 445 - 8 419 | BHIES (&)
8 2 | IZFR £ 54.0 %) *2) XY5-71-2 (=)
RS/ vvv—0 BRZ—=FIV3v bk e
@ 11— —BBIEfI
10—+— 1,2,4,8,3,6,5,7
20—F— 1,2,4,8,3,6,5,7
30—7— 1,2,4,3,8,6,7,5
43— — 4,3,1,2,6,7,5,8
o ILRE
B B 3 6304 JA R 3-4 240M4 B E 3-4 560M4 3EE 3-4-7 1,260
7B B 3 140/ 3-7 570 =51 3-4 1,870 3EH 3-4-7 6,550
4 110 4-7 370
7 1804

ABIC OV TRUTEREERRODDZE. THRIIZEL.



